6 класс. Работа в группах

I группа.        Решение уравнений.       

1). 5у + 27 = 4у + 21

2). 5,6 + 0,6у = 0,3у – 1,3

3). 
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4). 7(1,4p + 1.8) – 27.6 = 10,1p
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6). 0,9(4р – 2) = 0,5(3р – 4) + 4,4

II группа.    Решение уравнений.       
1) 11m – 7 = 6m – 22

2) 3,2а – 2,8 = 4,8 + 5,1а.

3) 
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4). 6,4(2 – 3х) = 6(0,8х – 1) + 6,8

5).
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6). – 3(2,1с – 4) – 4,2 = 1,2(- 5с + 0,5)

III группа.      Решение уравнений.       

1). 4х + 12 = 3х + 8

2).0,8у + 1,4 = 0,4у – 2,6

3). 
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4). 4(1,2к + 3,7) – 2,8 = 5,2к

5). 
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6).0,7(6n – 5) = 0.4(n – 3) – 1,16.
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4). 7(1,4p + 1.8) – 27.6 = 10,1p
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6). 0,9(4р – 2) = 0,5(3р – 4) + 4,4
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4). 6,4(2 – 3х) = 6(0,8х – 1) + 6,8
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6). – 3(2,1с – 4) – 4,2 = 1,2(- 5с + 0,5)

III группа.      Решение уравнений.       

1). 4х + 12 = 3х + 8

2).0,8у + 1,4 = 0,4у – 2,6
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4). 4(1,2к + 3,7) – 2,8 = 5,2к
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4). 7(1,4p + 1.8) – 27.6 = 10,1p
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4). 6,4(2 – 3х) = 6(0,8х – 1) + 6,8
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4). 4(1,2к + 3,7) – 2,8 = 5,2к
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4). 7(1,4p + 1.8) – 27.6 = 10,1p
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4). 6,4(2 – 3х) = 6(0,8х – 1) + 6,8
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4). 4(1,2к + 3,7) – 2,8 = 5,2к
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6).0,7(6n – 5) = 0.4(n – 3) – 1,16.

Фраза или лото

1 группа

Скажи   - 7

Знания – 0,5

Покажешь – 1 1/3

Человек  50

Планета 6

Математика – 2,3

Которые – 0,2

Посмотришь – 1 4/15

посморишь 20

увидишь 7 

покажешься 1 1/3

мир – 6

зеркало – 23

ему – 50

себя 2

2 группа

Умение – 1,1

Старание – 0,5

Надо – 2,4

Но 0,4

Помогут – 2

Учение 3

Перетрут 11

Терпение – 3

Пословица 24

И – 4

Труд 4,5

Всё ½

3 группа

Умным 10

Им 13

Будь 30

Хочешь – 4

Прутков 0,3

Надо 4

Знать 0,4

Старание – 30

Учись – 3

Быть – 10

Счастливым 1 ½

Много – 1,3
_1240080050.unknown

_1240080776.unknown

_1240080993.unknown

_1240081090.unknown

_1240080671.unknown

_1240079836.unknown

